20169 20iat JIEISESH

-

200 Alel==
210 ZHHA2+=L
211 At ==

00t 1 0

-

(ete: &

0

)

0

.32 Ofl b HEAE oAk blms2

= 42,383,901 38,148,136 4,235,765
200 NI2Iz=2] 1,550,346 8,781,380 7,231,034
210 IAEAH 25 1,540,346 8,771,380 7,231,034
211 THAFACHAL 86,598 7,272,909 A7,186,311
211-02 2RMHAANZ 86,598 7,272,909 A7,186,311
[ 2RAHESES|H | 86,598 7,272,909 A7,186,311
< QHMBE T > 86,598 7,272,909 A7,186,311

O3RJ0IIHE F= 86,598,000 86,598
212 Alg24 1,176,718 1,158,521 18,197
212-04 M+TAIER 962,118 1,013,721 51,603
[ AaTAISSESH ] 962,118 1,013,721 51,603
< MBIETARIA > 962,118 1,013,721 51,603

O tzg 417,462

0 &3 10,936 2+845% « 122 110,891

0 2= 3,7002+60 M * 122 2,670

0 &= 5,8222x310& 122 21,657

0 2Al 8,403 *145& 12 14,621

0 Al 10,044 21%550 %« 122 66,290

0 &d 6,5412x710& 122 55,729

0 Alok 11,4502 %889 &+ 122 122,148

0 ds 4,65421%420 M * 122 23,4%6

O g2 157,010

0 ALY 78,057 2+ 778 * 12 72,124

0 2% 8,34291x 1 M+ 122 100

0 M= 24, 2652x3pT 122 10,482

0 2A 102,5552%24 8« 122 29,535

0 Al 30,641 %258« 122 9,192

0 &< 39,63321%32% + 128 15,219

0 AIS 17,7182x218 %122 4,464

0 &let 44, 15120+30 & * 12 15,894

O=:let= 386,562

0 AHY 29,2222x367 &+ 122 128,693

0 2= 22,8052 x 2%« 122 549

0 &= 24,4022 %98 &+ 122 28,802
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200 M2l
2t 210 ZEEAL Y
5 212 AgEsY (el &)
g.-&.8.-5 Ol toH &E SOl AroK Hus2
0 2A 32,007 A*47 &+ 122 18,102
0 Al 26,7674 120&+ 122 38,544
0 &4 24,205% 1258« 122 36,442
0 Alok 46,110R1%220 & * 122 121,730
08S 19,028 2x60 A * 122 13,700
O =813 1,084
0 &3 10,0002 +3& * 12 360
0 AIE 3602 * 1 &= 122 4
0 Alok 30,0002 x2&* 122 720
212-07 YRE4Y 60,000 60,000
[ SYMLAILSSSIA ] 60,000 60,000
< SSSLE2ACIAE A > 60,000 60,000 0
O =2t & g2 2382 60,000,0002! 60,000
212-08 JIEIAIER 154,600 84,800 69,800
[ SYMLAISESESIA ] 154,600 84,800 69,800
< SoELE2CIMGA > 154,600 84,800 69,800
O QIZIFEAE AEZ 154,600
0 Solorsp 14,000,000 14,000
0 SALSLEE 3,300,000 3,300
0 LEXTHOHE 4,500,000 4,500
0 RXNSLs 4,000,000 4,000
0 SASHHE 4,000,000 4,000
0 920t 25,000,000 25,000
0 SAEME2 5,800,000 5,800
0 SX2E 3,000,000 3,000
0 EHZ==XE 36,000,000 36,000
0 ==52% 20,000,000 20,000
0 =012 % 35,000,000 35,000
214 At 67,630 161,550 293,920
214-01 AP EA A=) 60,000 150,000 290,000
[ aSLUNAIY SE3I ] 60,000 150,000 290,000
< ZHISAIDE > 60,000 150,000 290,000
O &2 B (T2 HHL) 60,000,000 60,000
214-06 =<3+ 7,630 11,550 A3,920
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Jal

0% re 0

ke

200 Alel==
210 ZHHA2+=L

214 A==

g.-&.8.-5 Ol toH &E SOl AroK Hus2
[ A==ZAIASESH ] 7,630 11,550 23,920
< MGt AFEA > 7,630 11,550 3,920
O NE=2E3 7,630
0 & 70,0008 * 20& 1,400
0 2% 70,0002 * 5& 350
0 &= 70,0002 * 6& 420
0 =M 70,0002 * 8& 560
0 Al 70,0008 * 15X 1,050
0 &d 70,0008 * 30 2,100
0 Alk 70,0008 * 20 1,400
04S 70,0008 * 5% 350
216 OlAt==g 209,400 178,400 31,000
216-01 ZZ020IX+L 208,400 178,400 30,000
[ SRACILESESIA ] 10,000 0 10,000
< QHMEE Dt > 10,000 0 10,000
O=RJAO0IIE 0| At==¢ 10,000,000 10,000
[ sLASII2SEIIA ] 40,000 20,000 20,000
< SFAHE> 40,000 20,000 20,000
O=sg4s)I3 EJI0=a Ol 40,000,000 40,000
[ Xt Metord )| Z2SESIH | 3,400 3,400 0
< FOMESTIRAA > 3,400 3,400 0
OSZ0Z0IX== 3,400,000 3,400
[ SYHLAISELESIA ] 14,000 14,000 0
< SELE2CIAE L > 14,000 14,000 0
O EE3HSZ030IX== 14,000,000 14,000
[ MR THELES|H ] 1,000 1,000 0
< BHZAID > 1,000 1,000 0
Os3HX 230z 0l 1,000,000 1,000
[ EAE=REIIS2ESLESA ] 140,000 140,000 0
< BHZAIDt > 140,000 140,000 0
O=20 301t 140,000,000 140,000
216-05 JIEHOIRt4=2) 1,000 0 1,000
[ A-HUMAIYE S ] 1,000 1,000
< BHZAID > 1,000 0 1,000
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& 200 M2l
2t 210 ALY
5. 216 Ol Xi==¢] (el &)
g.-&.8.-5 Ol toH &E SOl AroK Hus2
O DJIEHOIRr==¢Y 1,000,000 1,000
220 SAEAI2I== 10,000 10,000 0
224 J|Et==¢ 10,000 10,000 0
22406 12+ 10,000 10,000 0
[ A=S0II2SL3A ] 10,000 10,000 0
< FOIMSTIRAA > 10,000 10,000 0
oozs0 == 10,000,000 10,000
500 Ex= 14,867,103 12,099,553 2,767,550
510 2 NEX3IS 14,031,941 11,513,594 2,518,347
511 |F08xX3s 14,031,941 11,513,594 2,518,347
511-01 =18=x=3 6,276,046 3,727,443 2,548,603
[ =Z2NESESI ] 6,141,000 3,601,000 2,540,000
< Mot AIEA > 6,141,000 3,601,000 2,540,000
O &de ozt 6,141,000
0 sE0tSot=TEHIAI 1,427.,000,000! 1,427,000
0 Sk==2tH AXIAY 4.,206,000,0002 4,206,000
0 St==HM2l& &X 508,000,000 508,000
[ A==0II=2SE3H ] 135,046 126,443 8,603
< FRIMETIRIA > 135,046 126,443 8,603
O BAH=XE L2 135,046
0 2d=2=50 S==0l 88,720,000 88,720
0 22204 22lIAtEH] 46,326,000 46,326
511-02 NIGLHSLESHE LS 1,500,000 1,650,000 150,000
SHMNLAIEESSIH ] 1,500,000 1,650,000 A150,000
< SoBLE2CIMS A > 1,500,000 1,650,000 A150,000
O NSLYHESH o2t 1,500,000
0 SMsHER A2t 1,500,000
o MSEYsLI XA 500,000,000 500,000
0 SYBUE 2N LSS (HEHHMRITRES)
1,000,000, 000 1,000,000
511-03 2|13 6,255,895 6,136, 151 119,744
[ =ZOHESESA ] 5,894,895 5,804,351 90,544
< EHE At > 3,077,013 3,065,887 11,126
Odsd==H2elIi=s 3,077,013
0 =2UXIAA 1,305,281,000 1,305,281
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& 500 BEx=
2 510 I NEX3S
5. 511 3UEX3S (el &)
g.-&.8.-5 Ol toH &E SOl AroK Hns2
0 QXA EOF & DB X 13,756,000 13,756
0 80| Z=AIE 22| 1,625,231,0002 1,625,231
0 M=RESTAA2L 126,745,000 126,745
0 HSZH2eDs SEEI REHSRF AHAIE
6,000,0002 6,000
< AStEE AR A > 2,817,882 2,738,464 79,418
O &ds ot 2,817,882
0 s&0t=0l+== EHIA 367,120,000 367,120
0 ol HEXIAIS 1,081,620,000 1,081,620
0 ol==Hel& &X 304,800,000 304,800
0 3otk 29 1,064,342,0008 1,064,342
[ YEAFHTAXIAASELSA ] 361,000 331,800 29,200
< BHISAIDE > 361,000 331,800 29,200
OLUEAFEHXIAXIAAS 361,000,000 361,000
520 Al - SHIEE3SS 835,162 585,959 249,203
521 Al - SHIEXZ3S 835, 162 585,959 249,203
521-01 Al - EHIEXEZS 835,162 585,959 249,203
[ SEHESESA ] 183,400 41,400 142,000
< AStEE A A > 183,400 41,400 142,000
O mNEXAY A2 183,400
0 B3 Azt 183,400
o SE=0t2ot=E&U|IA 122,440,000 122,440
o ot=xeld Xl 60,960,000 60,960
[ A=230HII2ELESIA ] 51,762 49,559 2,203
< FOIMETIRA > 51,762 49,559 2,203
O mNEXAY A2 33,762
0 EAH=RE o2& 33,762
o 2220 S=3=0H| 22,180,000 22,180
o 2=2=0 22IAIEH| 11,582,000 11,582
O THIEXZAIY Azt 18,000
0 SXE2H= o2 18,000
o 2230 ;IHBH 18,000,000 18,000
[ SYNLAISSESIA ] 600,000 495,000 105,000
< SoBLE2ASIAE A > 600,000 495,000 105,000
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& 500 BEx2
2 520 Al - SHIEXEES
2 521 Al - SHIEEXRZS (EH2: M)
E-H-2 Oil &koH &E SOl AroK Hws2
O THIEXAIY Azt 600,000
0 SMsAER A2 600,000
o MSStUS AT TLAMS 150,000,000 150,000
0 SYEUE 2N LSS (HEHMRITRES)
300,000,000 300,000
0SB E = MEZ =4 150,000,000 150,000
700 EdLUSLUSIHH 25,966,452 17,267,203 8,699,249
710 2823 17,751,223 9,585,550 8,165,673
11 o= 15,891,223 7,812,223 8,079,000
711-01 =HHL0I2 15,891,223 7,812,223 8,079,000
[ A=ZAIHEES ] 200,000 400,000 £200,000
< MBSt AN A > 200,000 400,000 £200,000
O =HAHLAHB 200,000,000 200,000
[ A-SLEAIS SEHIH ] 80,000 70,000 10,000
< ZHISAIDE > 80,000 70,000 10,000
O =HALAHSB 80,000,000 80,000
[ SRACILESESIHA ] 3,898,061 0 3,898,061
< QtMSHE Dt > 3,898,061 0 3,898,061
OSRAOIE =AAHLNHZ 3,808,061,000 3,898,061
[ 2SN ] 240,822 70,822 170,000
< SRt > 40,822 70,822 A30,000
Oz=MAL = 40,822,000 40,822
< Aot AN A > 200,000 0 200,000
O &NAHLNHS 200,000,000 200,000
[ s2ASII3EE3A ] 3,000,000 1,600,000 1,400,000
< SEAH > 3,000,000 1,600,000 1,400,000
OsgasJIz =MALNH= 3,000,000, 000 3,000,000
[ et Metord )| Z2SHSIH | 628,600 480,401 148,199
< FOIMSTIRAA > 628,600 480,401 148,199
O&MALNZ 628,600,000 628,600
[ SYNLAILSESIA ] 3,200,000 1,160,000 2,040,000
< SYSLE2LIAE A > 3,200,000 1,160,000 2,040,000
O =HALAHSB 3,200,000, 000 3,200,000
[ MASHXZSELZH ] 65,000 0 65,000
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700 BN SR AN
Z 710 B E
g 711 A0 (el &)
g.-&.8.-5 Ol toH &E SOl AroK Hns2
< BHIZAID > 65,000 0 65,000
O=HAHLHS 65,000,000 65,000
[ EAFHISX AL SEIIA | 427,740 50,000 377,740
< BHZAIDt > 427,740 50,000 377,740
O=HHLHZ 427.740,000 427,740
[ EXE=REIIS2ESLESA ] 4,151,000 3,981,000 170,000
< BHZAIDt > 4,151,000 3,981,000 170,000
Oz=HAHLHZ 4.,151,000,000 4,151,000
713 8lt=zdzse 1,860,000 1,773,327 86,673
713-01 BIRISRIZ3| a4 1,860,000 1,773,327 86,673
[ sHASII2SEIA ] 1,800,000 1,700,000 100,000
< SEAH > 1,800,000 1,700,000 100,000
Osgasliz sii=sls =Y 1,800,000, 000 1,800,000
[ A2 )1 2EEH ] 10,000 23,327 A13,327
< FOIMSTIRA > 10,000 23,327 A13,327
O8X2 al==2 10,000,000 10,000
[ EEAFTHTSAX AL SLIIA | 50,000 50,000 0
< BHIZAID > 50,000 50,000 0
Oo==X si=3l= 50,000,0002 50,000
720 LHEHeH 8,215,229 7,681,653 533,576
721 M= 8,215,229 7,681,653 533,576
721-03 JIEISIHE L Z 8,215,229 7,681,653 533,576
[ A=ZAIHEES ] 252,483 20,117 232,371
< AStEE A A > 252,488 20,117 232,371
O LBANSZ 252,483
0 &==CAH2E 252.488,0002 252,488
[ =ZHESESA ] 3,451,568 3,219,998 231,570
< Al > 944,050 907,862 36,188
OBt N3 944,050
0 BHI|Z=AE2I2Y 858,011,000 858,011
0 AlRESRARZ| 77,713,000 77,713
0 =BIX2AY EOF & DBAIA 8,326,000 8,326
< AOtEARE A > 2,507,518 2,312,136 195,382
O LEEIHNYS 2,507,518
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700 BN SR
2 720 AN
& 721 Mg (el &)
g.-&.8.-5 Ol toH &E SOl AroK Hns2
0 sE0tSot=CFHIAY 122,440,000 122,440
0 o=t AXIA 671,380,000 671,380
0 ol==H2I& &X 142,240,000 142,240
0 3otk 22 1,571,458, 0002 1,571,458
[ A =230HII=2ELE3IH ] 391,756 388,974 2,782
< FOIMETIRA > 391,756 388,974 2,782
O2d=za0 &=l g3 389,596,000 389,5%
O2dzs=n sk 2,160,000 2,160
[ sZASIISEESIA ] 2,000,000 1,000,000 1,000,000
< =4t > 2,000,000 1,000,000 1,000,000
OsgAsS)|z L He3 2,000,000, 000! 2,000,000
[ SYNLAISESESIA ] 1,560,867 2,098,014 AB37,147
< SSSLE2ACIAE A > 1,560,867 2,098,014 AB37,147
O LEAHNSZ 1,560,867

[uind

HSStUS AL THLAIL(RISEX) 350,000,000 350,000

0
0 SAEZE 22N LA (NHERMYRIREL) (X

S8X) 700,000,000 700,000
0 SQEZE = HEZ 2H(ZHIEX) 150,000,000 150,000
0 eI AN = 360,867,000 360,867
[ AT ZLEHB ] 15,000 65,000 50,000
< BHISAID > 15,000 65,000 250,000
OZEsH M= 15,000,000 15,000
[ EA0ILSHIIS2ESLESA ] 543,550 589,550 246,000
< BHIZAID > 543,550 589,550 246,000
Ogets|HMUZ 543,550
0 EAIIESHIIZ 22(LLS|H MY2) 543,550,000 543,550
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